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The addition of a smelter of this size would add a large amount of transit locally. This may include
but is not limited to, trains, trucks, and cars. With more vehicles being introduced, they need a way
to move. This requires the creation of new roads, power lines, and rail road tracks through the area.
So, in addition to carbon emission environmentalist pollution animals now have increased difficulty
in traversing their habitats. 

What are the implications of adding such large amounts of new transportation to the area?

Are there ways to limit the addition of new modes of transit? Such as recycling old ways or making
use of ways already available?

The pollutants that will be added such as CO2 needs to be investigated. How much will there be,
what impact will it have?
 


